Biology 4605/7220/ST4581 Name Key

Quiz 6b. 13 November 1996
A Muscle soreness  DOMS n=20*6 =120 ratio

Subject Subj n = 20 (categories) nominal

time t n =6 (categories) nominal

stretching Str n = 2 (categories) nominal

B. DOMS = B, + Bg,*Str + B*t + Pgu*Str*t + €
C. dfg, =1 df,=5 dfg,=1*5=5 df,, =119 - (1+5+5) =108

D. two way ANOVA, Subj not used as factor)

B. DOMS = B, + P *Str + Boypisy *SUbj(Str) + Bt + €
Subj(Str) = subject within stretching
C. dfs, =1 dfgpen=9+9 =18 df,=5 df,, =155

D. repeated measures within each stretching group.



